
Conjunctions 

Combine the following sentences by choosing the most appropriate conjunction from the given 
alternatives:

Question 1. 
He is weak ……………….. old. 
(a) but 
(b) so 
(c) since 
(d) and

Answer

Answer: (d) and

Question 2. 
He is absent ………………. he is sick. 
(a) because 
(b) and 
(c) therefore 
(d) so

Answer

Answer: (a) because

Question 3. 
He is poor …………….. happy. 
(a) therefore 
(b) and 
(c) but 
(d) so

Answer

Answer: (c) but

Question 4. 
Mohan is more intelligent ……………….. Sohan. 
(a) than 
(b) and 
(c) then 
(d) but

Answer

Answer: (a) than



Question 5. 
I know ………………. he is an intelligent boy. 
(a) this 
(b) when 
(c) that 
(d) and

Answer

Answer: (c) that

Question 6. 
I am stronger ……………….. he is. 
(a) but 
(b) than
(c) and 
(d) so

Answer

Answer: (b) than

Question 7. 
It was raining ………….. I used a raincoat. 
(a) so 
(b) because 
(c) while 
(d) then

Answer

Answer: (a) so

Question 8. 
You are old ………………… you run fast. 
(a) and 
(b) so 
(c) but 
(d) therefore

Answer

Answer: (c) but

Question 9. 
We eat ………………….. we may alive. 
(a) and 
(b) while 
(c) but 
(d) so that



Answer

Answer: (d) so that

Question 10. 
Nobody likes her ………………… she is talkative. 
(a) therefore 
(b) and 
(c) as 
(d) then

Answer

Answer: (c) as


